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State Forest Service Examination - 2014
(Provisional Model Answer Key)

Environmental Science

Q1 : Pedology is the study of:
BIERIIKERDEEE

Soil

ki

Rocks

TETAT T

Locomotion of animals

Sirat & garele T

Crop disease

b Bl I T

Answer Key: A

Q2 : Prey-predator relationship was given by:

TIRR-TARRY R AFT GFaetT AT foham 1T

Gause G.F

M3 S Th

Lotka and voltera

olicahT Td alec

Holling C.S

gifcier d@r.ua.

Kitching J.A

i r——

Answer Key: B

Q3 : Which of the following layer of atmosphere has maximum density:




foa=T 3 & T € o Teiea A TS A TgHSS Y For 21 TR &2

Stratosphere

eNyHS T

Troposphere

HAJTTHUS T

Mesosphere

HHIHUST

Thermosphere

D
dqHATS T

Answer Key: B

Q4 : Center for environment education (CEE) is situated at :

Yo B FARIRAT TJoheleT (H.8.8N) feua g :

Bhopal

arer

New Delhi

7S fewehr

Ahmedabad

gHAcTdE

Baroda

g

Answer Key: C

Q5 : The famous “Chipko Movement” is associated with:

i "RIYeT eeleeT & Ged & :

Salim Ali

HellH 37ell

Indira Gandhi

iR anelr

S. L. Bahuguna

TH. T SO

D | Jawaharlal Nehru




SATEATe Ag®

Answer Key: C

Q6 : Bergman’s rule is related to:

e s Fefaa &

Law of minimum

Tl &1 for s

Temperature and colouration

JTIHTST T 3T

Temperature and morphology

dT9HTT U 18 GXTeT]

D

Law of Tolerance

Tgfreldr &1 [Fas

Answer Key: C

Q7 : Approximate percentage of freshwater on the earth is:

AT TR QFE STol T AT T § -

2%

2%

70%

70%

3%

3%

D

8%

&%

Answer Key: C

Q8 : Which of the following instrument is used to measure the wind velocity?

foe=t A q et A1 T IG BT Harar A= 3 FIT J=2ar 7 &r2m S &2

Psychrometer

ATSHIHICT

Hydrogrophs

QEEEINT

Anemometer




ofAar Hiex

D

Radar

Answer Key: C

Q9 : Rain forest in India are found in which state?

AR H IuTae 5T T & I ST &7

M.P

T

Karnataka

Felledh

Kerala

el

D

Goa

nar

Answer Key: C

Q10 Free living aerobic nitrogen fixing bacteria of soil is :

T T FHerd gl ATSelstel [EY{ehior Shary ¢ :

Azotobacter

A TSileldee
Rizobium

b ESITDES
clostridium

¢ FATACISITH
All options are correct

P gl fasrerg @er &

Answer Key: A

Q11 Insectivorous plant grow in soil which is deficient in :

AT A forg dca I Y gy T Hresredy aler erarg?

N,

N,




Ca

Ca

Mg

Mg

Water

D
ofel

Answer Key: A

Q12 Which day is celebrated as “World Environment Day” ?
"feg g iGad AT AT &

5" June

5 9T
[N

5" March

5HT

5™ April

5 3%l

5" July

D

5 S[ellS

Answer Key: A

Q13 Noctilucent clouds are found in :

SATeFETe[@ec STeel 91U ST & :

Troposphere

&NHHAUS T

Stratosphere

HAJTIHTS T

Mesosphere

HIEJHAUS T

Thermosphere

D
AHTSS

Answer Key: C

Q14 Name of only ape species found in India:




R H ITS SATeT aTell TehAT 1T STl ol ATH & -

Hoolock gibbon
A gemh foreaer
Lion tailed macaque
5 AT Co8 Fhlh
Slender loris
© |
Golden langur
P Lt oo

Answer Key: A

Q15 The term antibiosis means:

TSI AeE T AT

Inhibition of one organism by another through production of harmful substances.

BT TaTY 3 3cUTGH 9 ARIH  Uah Siid 3 GaRT gav.ofd &l forver

Production of antibiosis

TSI AT T 3c9TesT

Production of antigens

TeeToleT &l 3cTTeaT

Production of antibodies

D A
TEIdI8T &l 3cTTeeT

Answer Key: A

Q16 Kyto protocol is related to:

FACT Ieihiel Haid & :
Wetland
A - 94@
0.D.S (Ozone Depleting Substance)
B | siroter w1 s
Green house gases
© ater QEREIR)
D |Ionizing radiations




3T fafeor

Answer Key: C

Q17 Acidity of normal rain water is due to:

VTSI T IFNIAT [T FFROUT AT & :

SO,

SO,

CO,

CO,

NO,

NO,

NH;
D

NH;

Answer Key: B

Q18 A relationship between organism of the same species is called:

AT ST F AT F T GFI Fgolldl g

Interspecies
A
e
Intraspecies
B Hecratreirg
Intraspecific
© | srreerataree
Biotic
P lsrw

Answer Key: B

Q19 The study of the ecology of single species is called:
Tehel ST GRTEATAHT 3 10T Y FgT ST B

Animal ecology

A
Sted TR et
Synecology

B

Hrersraish

C | Autoecology




PR

Community ecology

P roges e

Answer Key: C

Q20 Temperature changes in the environment affect most of animals which are:

aTCTaROT & dT9HTeT IRacT T FaTieieh FHId il § SToc] W EIATE -

Poikilotherms

A EIECIRIDC )
Homotherms

B THATIE 7]
mammals

C
HTery
Birds

P aaft gar

Answer Key: A

Q21 Ifapopulation has more individuals of the post reproductive age, it shows that:

I ol STeTeean # votetel feided 3 & safaraal i Tedm 3R ¢ dl T8 Y& fid T s :

Birth rate is more

SeHcI AT &

Death rate is more

AcgeX fAF Y

Birth rate is reduced

FeHI FH B AT &

None of these

ol ——

Answer Key: C

Q22 Warm oxygen rich upper layer of water in lake is:

STt 3 R a9 3ot TR WA & -

Thermocline

[SIERSCELIR LY




Epilimnion

FferaT

Hypolimnion

KIRIRary

Mesolimnion

D
HAFT-HY

Answer Key: B

Q23 The largest reservoir of sulphur in the biosphere is the:

ST AUSH FT JaH T3T o HUSR &

Atmosphere

Organism

Sig

Rocks

Da@?‘r

Answer Key: D

Q24 Which week is celebrated as “Wild Life Week” ?

T TT TdTg I Si1d odig R &I H HATIT SATAT & 2

June 1to 7

S 019 07

October 1 to 7

3HFgER 01 9 07

November 8 to 14

ATFR 08 T 14

August 8 to 14

D
IPET 08 14

Answer Key: B

(25 Phosphate cycle is unusual that it is entirely:




BIEhe TIsh TafRrse g #Fiifeh Ig qoia:

With in aquatic system

S AT HEIAT &

Sedimentary

3T

With in terrestrial ecosystem

S PEEE AT b

Gaseous

Damaﬁ'zr%

Answer Key: B

Q26 Marsh gas is:
AN E

CO,

CO,

CH,4

CH,4

C,Hg

C,Hg

CcO
D

CcO

Answer Key: B

Q27 Mangrove vegetation is found in:

Hallg (IR TR AT &

Kullu valley

Foof TTET

S Pl

Western ghat

EIEGEIR3Ia)

Deharadun valley

BTG ey

Sundarban

HealdeT

S




Answer Key: D

Q28 Prairies and steppes are part of:

Tropical grassland

ISUTRAISHT 8T R AT

Temperature grassland

frarsuT 919 R HereT

Steppes grassland

T arg R A

Tropical savana

Dwm»—aa'iﬂzrm

Answer Key: B

Q29 In India, coniferous forest are found in:

HRA H AU ol T ST § -

M.P

IS

Satpura hills

HILST H TETS

Himalayan region

AT &8

Rajasthan

D
T EUTeT

Answer Key: C

Q30 Which of the following categories of organisms can convert ammonia into amino acid?

o=t 31 & it T Sfiat a1 T 3T & 3T 3 31 aRafdd F TFar s -

Producers
A

3c4lceh

Primary consumers
B

grafAe 3TMeFar

C |Primary detrivores




TATAS 9cHh

Scavanger

ol j—

Answer Key: A

Q31 Which pollutant causes leaf curling?
To¥e=T & @ hleT &1 Tqweh Tlcardl 3 gIRTeIYT 3 ford Sccieri g :

SO,

SO,

CcO

CcO

H,S

H,S

0O,
D

0O,

Answer Key: A

Q32 Major source of methane in India is:

HRA # e F AT T § -

Rice field

T R WT

Sugar cane field

IMeAT RET

Wheat filed

B

Fruit orchards

D | et svaetar

Answer Key: A

Q33 Pollutant of Jet plane:
ST TeleT HIGTh & :

CcO

CcO

B |SO;




SO,

NO,

NO,

D

Fluorocarbon

FelRIehTasT

Answer Key: D

Q34 Mosses are indicator of:

A YD :

Air pollution

T ST

Water pollution

Sfet HeJoT

Soil pollution

RN

D

Radiation pollution

fafeRoT yegmor

Answer Key: A

Q35 NEERI s situated at:

= (NEER]) Feaa &

Bhopal

AT

New Delhi

7S fewehr

Nagpur

GICILRY

S

D

Bengaluru

CEICRS

Pl

Answer Key: C

Q36 Photochemical smoke always contains:

ShTRT TET foteh €8T H GARIT YR ST § -




Aluminium ions

A
TG AT 3T
CO
B
CO
Phosphorous
C v
BIEHIRH
Ozone
D
3T

Answer Key: D

Q37 Formation of ozone hole is maximum over:

31N g & AT s &

India

AT H

Europe

R

Antartica

HecThfean o

D

Africa

IPTRT H

Answer Key: C

Q38 Which gas was released in Bhopal gas tragedy?

siaTer A7 TGy A foha 3 o1 Rara g3m
Ethylene
A
smsfersT
Methyl isocynide
B
Hase 3MSar ABAEs
Mustard gas
C
HES N
Potassium isothiocynide
D

qre i AT YA AS

Answer Key: B




Q39 Acid rain is due to:
37T I T PRUTE

Sulphur dioxide

HETIETS FATSS

Carbon monoxide

FeeT HT 3HTFASS

Pestcide pollutuion

STEATRIR ST FEHOT

Dust particles

D
&eT & 0T

Answer Key: A

Q40 Eutrophicapion causes reduction in:

M theheleT o HROT fola=t A el gl & -

Dissolved oxygen

IECIGKICRISGE

Dissolved hydrogen

ICEIGRESSG]

Dissolved salt

IECIGEGEN

All options are correct

Dmﬂaﬂmﬂ

Answer Key: A

Q41 The main indicator of SO, pollution are:
SO, TGNUT & HET o ¢ :

Lichens

T

Ferns

ol

Algae

arer




Bryophytes

Danmmsw

Answer Key: A

Q42 Which of the following chemical causes bone cancer and degeneration of tissue?

i 7 & it AT THIA 33T 3 hax R Scdehl 8 Idel i ol e 8?2

Todine 131
A

3T 131

Calcium 40
B

Hier™TH 40

Iodine 127
C

3T 127

Strontium 90
D

FIfATH 90

Answer Key: D

Q43 Chernobyl disaster was caused by:
TRUTI TSl GHET & HRUTE :

Nuclear weapon accident

AT QET GEIET

Nuclear waste disposal leak

ATTRHT 319fArSe

Nuclear reactor accident

Nuclear test

Dﬂ'lﬁ-‘lﬁﬁ'q‘:l'ﬁ&TUT

Answer Key: C

Q44 The term nuclear winter is associated with:

TYFIR [deeT e FFATetd & :

Nuclear war

AR Jre

B [Nuclear disarmament




ATTAFRT - areaor

Nuclear weapon testing

AR ereTgdreTor

Aftermath of nuclear holocaust

D

qwugqmréaaﬁ

Answer Key: D

Q45 Carbon intensity means:

FIaT Sl AT HT AT §

CO, emission per GDP
A CO, 3c8atet Tid Heel Be] 3cUTG
CO, emission per meter square
B CO, 3T 9fd FaTHeY
CO, emission per person
¢ CO, 3c8atet ufd safad
CO, emission
D
CO, 38Tl

Answer Key: A

Q46 The dodo was extinct due to:

3YeT 3 ety oAt ot 2T -

Pollution

AT

Invention of non native species

el sttt s 3msmATT

Overexploitation of resources

AT &7 IS glget

Global environmental changes

D' st qefiacor afadar

Answer Key: B

Q47 First national park of India is:
IR ol JUH TSET 36T+ & :




Kanha national park

A Fleel TSI 3T
Periyar national park
B | et o 3egret
Corbett national park
¢ ST ASEIT 3T
Bandipur national park
P AT LI e

Answer Key: C

Q48 Lion tailed macaque is found in:

AIAC TS FRTh TIAT SATAT & :

Western ghat

i 91T

Eastern ghat

qdf are

Sundarban

e ldeT

S

D

Kullu valley

oo 11T

S

Answer Key: A

Q49 Red data book is famous for:

{3 sTeT g e faT aidee & :

Extinct animals

[ECASKCIE]

Endangered animals

TeheTesT Siid

Endangered animals and plants

D

Important wild life

HAgcaqUT T ot

Answer Key: C




Q50 Non ionizing radiations are:

IR 3mafaes R

UV-rays

g fa. fereor

X-rays

Torg-feheor

V-rays

AT THIOT

B-rays

D
Srer-feRsoT

Answer Key: A

Q51 A keystone species is one of that:

T T STfAATE

Preys heavily on a particular species

N T AW gehr Fr Shfarat &1 PR Hr &

Is specially vulnerable to extinction

Y ST St rgRiETd &

Is restricted to small geographical area

B AlMfos T ae AT E

Strongly influences the structure and functioning of its ecological community

b o ST it fenedy aTREufores Taer 1 goar & genfad adl &

Answer Key: D

Q52 Biodiversity hot spots are recognized on the basis of:

ST fafaerar & 3THYUT F heg, fleT IMYRT R UgaA ST &

Their proximity to national park and reservoir
A TSEY 3T R ToIT IeAehr folmedr

The number of endemic species contained
B fAfea vurfaes senfaat & gear

The degree to which included species are threatened with extinction
A R e, T s e 1 e




(The number of endemic species contained
) and (The degree to which included species are threatened with extinction) both

D' | (e wenfores sronferat 4 s 3R (e seeit i afaror, et o e e ¥
) et

Answer Key: D

Q53 Gause’s principle is related to:

A T fAFeid grafeud g

Neutralism

S GIEICY (rq,\aﬂiaa?’:l)

Mutualism

RG]

Commensalism

agAIfoar

Competition

Dqﬁwﬂ‘r

Answer Key: D

Q54 Simpson’s diversity index is:

FFraaea fafaerdr gais & :

e

D= Exnr"lr;\n"j

-

D =3("/y)

NiN=1)

Tnin—-1)
NEA=1)

=

D=(1-d)

D=(1-d)

D=(1-d)N

D
D=(1-d)/N

Answer Key: A

Q55 One population is inhibited but other is not affected:

Teh ST Sfct afere faee gady smfaa g g & -

A | Parasitism




SEEIICEIl

Symbiosis

BRG]

Commensalism

T

Competition

Dqﬁwﬂ‘r

Answer Key: C

Q56 The presence of all of the following tend to increase species diversity except:

=1 7 & T fr suftufa sfas geca &t s §, 38 et

Competitive exclusion
A oot
Keystone predator
B | srvorr ey
Patchy environment
¢ fafarer qataror
Moderate disturbance
b HIEIH &7

Answer Key: A

Q57 “Minamata disease” is produced due to pollution of:

"HIATATET" AT foldT JGueh R HROT G & :

Crude oil

Foar oo

Silver nitrate

el ATI¢s

Phosphorus

BIEPRY

Mercuric chloride

D

TR FANTSS

Answer Key: D




Q58 The “Wild Life Protection Act” came into existence in:

awsﬁamﬁwmﬁ'aﬂqﬁ?rgaﬂ:

1970

1970

1972

1972

1974

1974

1992

D

1992

Answer Key: B

Q59 “The Forest Conservation Act” came into existence in:

aﬁimﬁwaﬁﬁuﬂqﬁﬁ‘gﬁ:

1972

1972

1980

1980

1992

1992

1975

D
1975

Answer Key: B

Q60 Ramson convention is related to:

AT FFAA FFafed g :

Ozone depleting substances

NS ge geredy

Green house gases

Nt 138 T

Wetland

s

Forest

D
ol

Answer Key: C




Q61 Leaf area index(LAI) measurements by scientist at study site using a hand held ceptometer is an example of:

g7S¢ o8 ACIHICT &1 SUANIT X §U Ueh 30T U T AATToteh SaRT Fecll &7 i HIY FaAT Ueh 3ETe0T & :

In-situ data collection

A o e SeT HIFOT
Ex-situ data collection
B ez e HIAFT
Both In-situ and Ex-situ data collection
T b oe—
None of the above
P s g s

Answer Key: A

Q62 Which of the following remote sensing technique used to measure soil moisture content directly?

T FAEY hr T T 1 A9 v fAeAfafaa & @ foha geg ddest gommelt i 39a1eT foham ST &2

Microwave remote sensing technique

ASshIag RAle Affar

Thermal infrared remote sensing

YA 35hE AT df e

LIDAR remote sensing

LIDAR R&#FIe @&

D

All options are correct

ol Reraa Tdr g

Answer Key: A

Q63 The majority of non military commercial aerial photography is collected by using:

HEIA: IR Wi 191 §aTs BIeIamthT foie=T &1 3TATeT Y Teha T SATel &

Double winged aircraft

ool 9@T dTell fadTeT

Single winged aircraft

Tehel U aTel fadHATT

Multiple winged aircraft

FS g@T arelr faHATeT




D

All options are correct

SRIFT TAT

Answer Key: B

Q64 High oblique aerial photograph is obtained if the:

3= WIeT TRIS BT greg Y sirdr g, Ife

Horizon is not visible

farfarst s agt eare

Horizon is visible

farfrst fewrs g

In both conditions

AC NI RR

D

None of the above

SoTd § IS e

Answer Key: B

Q65 Which of the following cameras are often used to obtain aerial photography?

HEI: TR BT e &t o oy el et # & fohat Shars o1 3u2eT foha St 82

Single-lens mapping (metric) cameras

A Tehol ol ST
Multiple-lens mapping (multiple-band) cameras
B E@ﬁ? -
Digital cameras
© | retem
All options are correct
P | s won

Answer Key: D

Q66 Which of the following stereoscope used to view stereoscopic aerial photograph and a map at the same time?

AR TRINTRIT H T Tah & T H T R3NTRId TRIST BIemhT 3R Ja) & @ 3 o 393197 fham Srar g,
JE B

Lens stereoscope

o TR




Mirror stereoscope
P |t ettena
Analog stereoscopic zoom transfer-scope
¢ TATell9] FCRINERI I STH ST ahIEhT
Zoom stereoscope
P | sm et

Answer Key: C

Q67 Which of the following remote sensing systems collect data in digital format?

AT Geg Hdeet Jotell & J ahlet &Y gurell 3foce Fawy & SeT vehd itcl 82

Multispectral remote sensing system

A - 3 5
D S SE
Hyperspectral remote sensing system
B AN AN
FISTREYUFC A eI FdeeT YoTTell
Ultraspectral remote sensing system
C

oA eI TaceT Jurel!

Both (Multispectral remote sensing system
) and (Hyperspectral remote sensing system

)

D | (SEAUThENT e HaeeT qotelt

) AR (@TsTREdTee YoI Hdee Yool
) aleE

Answer Key: D

Q68 Arrange the following steps in correct order which involved in remote sensing process:
() Statement of problem
(II)Data to information collection
(IID)Information presentation
(IV)Data collection

fee=Tfafed ufshat =1 et o A cgafeyd 3 S e TdesT JolsTell H ATAT gIel & -
(1) HHAEAT T fAaI0TF

(II) FI=T HIHTHST T HAEUTF

(I11) T[T S fer

(IV) 31ThaT T TIAGUTF

LIV, I, T

LIV, I, T




L IL, 111, IV

I, 10, II1, IV

LI, IV, T

LI IV, III

IV, L 1IL, I

D
IV, L 1IL 11

Answer Key: A

Q69 Which of the following potential remote sensing systems are used to obtain information about canopy structure and height of
vegetation?

fertfaf@a denfad geg Faeet yomrel # @ shiet A qomrelr &1 39AYer nfAgr e 3R aereafa f Farg RaR A
SATTRTT UTC el T T SITdT &7

Stereoscopic aerial photography

ER3ERIUT TRI BIetamhT

LIDAR remote sensing system

LIDAR &I Haee JoTrell

RADAR SAT remote sensing system

RADARSAT e Hdeat JoTrell

All options are correct

Dmﬂaﬂmﬂ

Answer Key: D

Q70 Which of the following remote sensing system collect data in thousands of bands?

1Tl geg ddeat gunferat & & whist @ JuTel §oIRT 45 R & 377ehs Tehe Tl & ?

Multispectral remote sensing system

SEIUTHHIT HeT TG FOTell

Hyperspectral remote sensing system

BTRIIREIFEH &I Hdeat JuTell

Ultraspectral remote sensing system

HeERUFEH FeI HdeeT JoTrell

All options are correct

Ds’qfl?crmfr

Answer Key: C




Q71 The ideal time of day to obtain aerial photography is when:
TR BIIITHT 9T &e & ford et 1 I §Ad 8, 51a

The sun is between 30° and 52° above the horizon
A ISt eI 3w 30° iR 52° R g

The sun is between 30 and 40" below the horizon
5 a3 farfasr el 30° 3tk 40" R g

The sun is between 60° and 70" above the horizon
¢ Yo st 39 60° 3 70" R &

The sun is between 10° and 30" below the horizon
P ot fafas e 10° 3 30" R = g

Answer Key: A

Q72 Which of the following stereoscope permits the entire stereoscopic model of the two overlapping aerial photographs to be
viewed?

AT T TERIHERIT & & et &7 a1 Iifceardt RIS BIeITd i T RIAERIS THeAT SWeT o el F1eT # ST Srel
3

Lens stereoscope
A s meoairerts

Mirron stereoscope
B | ator s

Analog stereoscopic zoom transfer scope
© | comeitr eeRatet

Digital stereoscopic zoom transfer scope
Ve e e 2

Answer Key: B

Q73 Airborne visible and infrared imaging spectrometer (AVIRIS) acquires data in 224 bands in the region from 400-2500 nm is an
example of:

VRS JIETT TUT SIPRS SHTOTIT TUFEIHIET 400-2500nm &F F 224 35 F 317hsT T TATGOT FATE | T 3GTE0T & :

Multispectral remote sensing system

agavﬁ%thtrg?gﬁéa?rwﬂ?»?r

Hyperspectral remote sensing system

GIITREATFE ol FoT Hdeel JoTely

C | Ultraspectral remote sensing system




HegRuFed geI HdesT JoTrell

None of the above

D s &t @ g o

Answer Key: B

Q74 Analog photogrammetry is performed using data that are in:

UATATdT BICITACT 3 3ThsT &7 ITART fohAT SATAT §, ST 37TehaT Sl U

A hard copy format

U gTSehidr H g

A computer and digital aerial photography

Teh shFeg el 3R fBToTeel TRarer ety # gt

Both (A hard copy format
) and (A computer and digital aerial photography

)

(T GTSHIT 3 T ) 2T (Ueh e 3R f2fSiee vRae wreramdr 4 8
) At

None of the above

D

ST A S RFaT a@ 78

Answer Key: A

Q75 Which of the following measurements that can be obtained from a single vertical aerial photograph using analog or digital
photogrammetric techniques?

TATATdT AT F3TSeeT BICIATAEIS deheileh T 3UANT X Teh A1l TRITS Biehms ¥ Aefaif@d ATda! & & sl 91 AT wred

TR ST FehaT &7

Object height

aEq T IS

Object length

TET T olaTg

Area of an Object or polygon

War&_gasra%awmagaﬁ

All options are correct

Ds’qfl?crmfr

Answer Key: D




Q76 Parallax is a normal characteristic of aerial photography can be used to measure:

RTAFY (SIeeT) TE ATS PICTIATHT T Teh ATATT [FATAT &, ST 37T AT 3 forw 3 392ver & 1S 51 Aol €, I8 &

Hieght of the objects and tropographical information
A TE3T hT SIS HR TUTRTcTeh ST
length of the objects
B et dra
Area of the objects
¢ TEJ3T T &TTBel
None of the above
P T faFea a8 & |

Answer Key: A

Q77 Which of the following dominating factors controlling the leaf reflectance of plants?

AT 7 T 7 § et AT R e T el 1 et @A Farg 2

Various leaf pigments in the palisade mesophyll
B e w——

Scaterring of near-infrared energy in spongy mesophyll
5 TGSl S H fehe 3ravard Fail &7 faeder

The amount of water in the plant
© | atettar i vz

All options are correct
b T faFeT a8 & |

Answer Key: D

Q78 Which of the following remote sensing system is used to measure the amount of precipitation and location of dangerous weather
0

AT Go Haee dehfeient A § fond dehfeieh o1 3UNeT s & ATAT gTiiehRer AIHHA H AT AT 3 forw famar

SATT 89
Ground based (terrestrial) active microwave remote sensing system
A .
SR ITUTRT AT ATFhIAT eI Hdeed JoTTel!
Thermal infrared remote sensing system
B

ISHIY 3R eI HdeT JoTelr

C |LIDAR Remote sensing system




LIDAR eI Hdee JoTrel!

D

SONAR Remote sensing system

SONAR HeT TdesT JouTel!

Answer Key: A

Q79 Which of the following characters of soil is responsible for spectral reflectance of soil ?

il Fer i fadAwdnsit 7 & st @ fFAvard guiswea wrads # faw scaveri & 2

Soil texture

el G

Soil moisture content

e Sy AT AT

Organic matter content

Frafaa geret greaft

D

All options are correct

s Areca T & |

Answer Key: D

Q80 Which of the following elements used for image interpretation ?

AT Teal # & et AT cled BRAT TEATI0T R fTT 3u2aT foham Sirefm & 2

Grayscale tone

3 Fahel e (LT 1T)

Texture

§oildc

Shadow

ST

D

All options are correct

s fArecT T & |

Answer Key: D

Q81 The first man made satellite was launched to orbit of the earth :

TE T ATTd T T3 3UG ST Gl &l heTT 7 Faifie foma arar o :

Corona

PRI




Apollo-1

379rell-1

Supnik-1

TYsileh-1

Explorer-1

D TFICARR-1

Answer Key: C

Q82 What is the full form of GIS?
SiL.37TS. UH. T QU ATH AT 2

Geographical Information System

3 Rherer sewafere fRTea

General Information System

ST Sehaiele e

General Information Sensor

eI el Sehaled =T

Global Information System

b Tollaol et faTeH

Answer Key: A

Q83 At which layer of atmosphere satellite launched?
TCATaROT R fohdl Ol A HTIH IYTE AT F&IUT fham ST & 2

Exosphere

afgdser

Mesosphere

AFIHAST

Thermosphere

GIEEECH

Either thermosphere or exosphere

D . .
ATgHSH IT SfgHse

Answer Key: D

Q84 Which of the following sensor was used in the INSAT satellite?




AT Tact # & Hid AT Tded Saic UG A 3TN fohdT 31T 2

Ocean Colour Monitor (OCM)

NI Fel AT (OCM)

Wide Field Sensor (WES)

arss fhes WX (WFS)

Very High Resolution Radio Meter (VHRRM)

A §TS TSTol0eT TEAHAET (VHRRM)

Linear Imaging Self Scanner-I (LIMSS-I)

D TR 3TATSIT Tt ThelX -1 (LISS-I)

Answer Key: C

Q85 What is the full form of GPS?
SO UH. T R ATH AT 2

Global Positioning System

Toliao gifarefaer fwed

General Positioning System

STeRe NifSefaer R

Geographical Positioning System

S QifSrarfaer Reed

General Programming System

D ST SenfAeT Aees

Answer Key: A

Q86 The satellite NOAA is equipped with :
3996 TA.3N. 0.0 GaAfSSIT & -

Advanced Very High Resolution (AVHR)

UScET=HS A 818 YSlolel ISAHIET (AVHRR)

Very High Resolution Radio Meter (VHRRM)

A §TS TSI oleT XA (VHRRM)

Wide Field Sensors (WFES)

a1ss fthes TR (WFS)

D [ Ocean Colour Moniter (OCM)




NI Fel AT (OCM)

Answer Key: A

Q87 The Charge-Coupled Device(CCD) is the most common mechanism for converting?

ITel e 3asa (@r.dr3) frge aRafdd s F T ged smaaTg e

Optical images to electrical signals

ITTCEhel SHST I Selfargen [Haatel

Electrical signals to digital images

Soifarcahol [AveTel I f3Siice 3aoT

Digital images to optical images

TESiIcel SHST i 3TTTCeahe SHT

Digital images to electrical signals

D

T3Sficer s &l Selfdeand fesTel

Answer Key: A

Q88 GPS originally designed for :
S.A.TE. Hol &9 & fohg R fw serar s g 2

For direction of air

arg &1 feer R ferw

Real time and navigation

qIEdTas AT g EQma R forw

Temperature of water

UToAT 3 g 3R dTIHTT 3 fow

Gravitational force

P pecarantor so wfae

Answer Key: B

Q89 Which of the following segments are the basic segments of the GPS?
AT 7 & it |7 197 ST, T FHT$ [ T & 2

Spaced based segment

& O JTRITRC T

Control segment

IGREMEIEN




User segment

3ULNITHAT HTT

D

All options are correct

i AT @ g |

Answer Key: D

Q90 Which of the following components are the basic components of GIS?

AFATATET A & et A1 Tceh 5.3, I HAd T o ?

Computer hardware and software

A | e s st e
Spatial data from the real world

B 31l g T TUTiareh SeT
Trained personnel

© | st s
All options are correct

P T fAFeT T & |

Answer Key: D

Q91 Absolute humidity in air :

EI'RE H Cl'ﬁ'?j,?ﬂ 3'“35\?” :
Remain constant at all altitudes
Sl R
Increases at higher altitudes
B R RAT T &
Decreases at higher altitudes
R P I—
None of these
D

T A IS TG

Answer Key: C

Q92 Infiltration capacity of soil depends upon:

e 1 R &vear e e 8

A

Compaction of soil particles




T I & HeleTel

Arrangement of soil particles

FeT FFHUI T cgaedr

Shape and size of soil particles

HET HHUN o TR T HTehicT

D

All options are correct

i AT @ g |

Answer Key: D

Q93 Pick the correct equation from the following:

fAFEfaf@d & & Te) Teenor 1 gera ffSv

Run off = surface run off + ground water flow

A HUATE=4cIg HIATg + STl 39arg

Run off = surface run off - ground water flow
B HUATE=Hcg AYATE - STHN J9dTg

Run off = surface run off = ground water flow
¢ 3HUATE=Hdg HYaTg ~ THAT UaTg

Run off = surface run off x ground water flow
D

I9aTg=8dg 379d1g x AHT 39dT8

Answer Key: A

Q94 Unit hydrograph theory was given by :

W.W. Horer

Ssc. Secy. E'R?h

Robert E. Horten

U S FREA

Le-Roy K. Shermen

N-TT-FH-eH T

D

Merril Bernard

AR §Ts

Answer Key: C




Q95 The surface run off is the quantity of water:
HAG 37YATE STof hT ag ATAT G ST

Absorbed by soil

HCT SaRT 3N &1 STl §

Intercepted by buildings and vegetative cover

SANG! 3R Feedfcish 3TavoT ganT yenfad i &

Required to fill surface depressions

Hg RISl FT A R forw 3masaw &

That reaches the stream channels

D

ST RT R AeTell Toh TgT=t <R folw Jmaeash &

Answer Key: D

Q96 Precipitation caused by lifting of an air mass due to pressure difference is called:

ST S AGHR 3 35+ W, &1 # 37 HROT NN &, Fgelleh 8-

Convective precipitation
A S

Orographic precipitation
B | strremr st

Cyclonic precipitation
¢ Tshdcell asT

None of these
P cmaasag

Answer Key: C

Q97 The theory of infiltration capacity was give by :
SeTfthoc el ShiadIeY T fAeerd fear :

Merrill Bernard

ART T8

W.W. Horner

ESE E'R?h

Le-Roy K. Shermen

N-TT-H-T

D |Robert E . Horten




qeC §. gReA

Answer Key: D

Q98 The Coriolis effect is related to
HITSNT T gHTT Fefed g

Earth’s rotation

qe R &

The process of cooling of ascending air

3TRYEY gaT3it st ool Ufshar &

Infiltration and percolation in the unsaturated zone

3T &1 3 FeATthee el 3R Tehlolee &

The existing hydrostatic pressure at water table

el P

Answer Key: A

Q99 The aerodynamic resistance determine the rate of :

AIGATTAehI TR Tfe T fAUROT sl & -

transpiration

I IR

drainage

Solfaerg

discharge

R

Evaporation

D
grsdiahoT

Answer Key: A

Q100 The Roynold’s number is a relevant number which denote:

Open water evaporation

ol 7ol T arsdiehoT

Transpiration through plant stomata

qief T gfedal garT arsaraste




Percolation of the ground water

AR SToT R 37T T

D

Discharge through open channels

Gell STeT faT Z@RT Stel & Rara

Answer Key: D

Q101 Material deposited by flowing water is called:

JATEHIST STel GaRT HIATEd IG1Y FHgellal & :

Alluvium
A
STolige
Alluvival fans
B
STellee thel
Albedo
C
QWHT
None of these
D

T A IS T

Answer Key: A

Q102 The most commonly used method for desalination or desalting of water is :

3TerquliaioT T FaE 31T YIT & 1S ST arell AT &

Distillation

A
Edd
electrodialysis
B
ERE AR R IESSIE
Flash evaporation
C
&reg arsdiehoT
Reverse osmosis
D
T RERoT

Answer Key: D

Q103 lodometric titration is used in estimation of :

ITATSTAER HTHTI T 3TN o¥e=T o eiRoT & forw foham S & -

A

Total hardness




HYUT HORCT

Dissolved oxygen

el JiTereoter

COD

€r.arn. 3.

chloride

Daﬂms-s:

Answer Key: B

Q104 latent vaporization of water is :
STeT ST I 3SATY -

540 K. cal

540 for. ey

540 cal

540 FARY

540 K. cal. Per gram

540 for. FHy/ameT

5.40 cal. Per gram

D
5.40 Fei/ame

Answer Key: B

Q105 Permanent harness of water is due to:

STt T TARN FORAT R FRUT S

Magnesium bicarbonate

HiAfRga 915 Frefac

Calcium bicarbonate

FTRIH 918 FrEfeie

Calcium sulphate

FforaH gothe

Calcium hydroxide

b Fiord gIgeFass

Answer Key: C




Q106 The thin film of water is held by soil particles under the influence of internal attractive force, it is called:

STeT Y ITell et ITARA 3MhYT St T T3 & ALY 3 ol garT NS H Il €, g Fgornar &

Capillary water

iRt ST

Combined water

W‘o STl

Hydroscopic water

JTGATITEY STl

Gravitational water

D

&I STel

Answer Key: C

Q107 Equilibrium constant of water is:

STl T @Y e &

1.8 x 10" M?

1.8 x 10" M?

1.0x 107" M?

1.0x 107" M?

1.8x 107" M?

1.8x 107" M?

1.0x 10" M?

D

1.0x 10" M?

Answer Key: D

Q108 In liquid state water molecule make :
AT STl HTEAT H STel T Teh 0] TeATclT ¢

1.5 hydrogen bonds

1.5 gHISISIA 99

2 hydrogen bonds

2 BTG 99

3 hydrogen bonds

3 gTISIoTeT 84

D |3.5 hydrogen bonds




3.5 gTISIoTeT 84

Answer Key: C

Q1090.1 M solution has a water potential of :

0.1M STl & "dTeX GieTe=rIer gIam:

-2.3 bars

2391

0 bars

09

22.4 bars

22449

D

2.3 bars

2349

Answer Key: A

Q110 Nearly .......... Of global fresh water is frozen in ice caps:

T ... IRgF AT A AT TRRITI AR :

90%

90%

68.7%

68.7%

78.7%

78.7%

D

95%

95%

Answer Key: C

Q111 The Vadose zone occurs:

(| (Vadose) SERIGI %’ :

Near streams in arid to semi-arid regions

YRT13 & f¥she ST seh &1 A Y aiT dh &

Next to cropland where fallow is practiced

Yl & folehe STgT dot 8 ol STl STl &

Above approximately 2500m elevation




TATSHAT 2500 HieX FI FTS R FW

Between the water table and soil surface

b STel EAT TUT A TR AT

Answer Key: D

Q112 Preferential or bypass water flow usually occurs :

TSR TUT 3UAR STl ATHIT: 98T g -

In earthworm channels, cracks or other macropores
A st e e, et v 2 Rt ot

In confined aquifers
B |t sroremer et

In the microspores of fine textured soil
¢ 8leh deTTae 1 HeT RgeH Bl &

During light rainfall that continues for several hours
P [eetrast makm o a8 s om0 2

Answer Key: A

Q113 Artificial drainage by ditch or buried pipe:
ATl AT 3T ITSUT R SanT HTAA fehrey gIel & -

Removes excess water but has no effect on the water table
A AR STl hr TehTaT fohee] STorecR IR Shig T T8l ISl
Lowers the water table by speeding the flow of water out of the soil profile
B T T TAT H STET STol o ol TaTg GaRT STel TR hl e gledl
Rises the water table by speeding the movement of water through the soil to water table
C
T A STeER e STol R i1 JaTg SaRT STelEcX &l 86 Silel]
All options are correct
P T faFeT T & |

Answer Key: B

Q114 Epiaquic soil conditions may be caused by the presence of :

gUITerdiIeh HeT cqaeUT 1 HhRUTE :

A subsoil layers of sand and gravel

¥ 3R T 1 3raegfa




An impermeable clay layer
5 e 39T HeT 1 R

A fragipan layer
© st oz

All options are correct
P Tl TAhea TET & |

Answer Key: D

Q115 Which they of irrigation system usually achieves to greatest * field water efficiency” ?

&Y STef T G&TAT A e fohdl FEwTS Tehotleh G@RT &Y SiTc & 2

Micro or drip irrigation

qeH AT g TS

Level basin irrigation

TR STorghvs THwrs

Furrow irrigation

s Rt

None of these

ol FEE——

Answer Key: A

Q116 The hydrologic cycle is primarily driven by :

STellersh 7&d &9 q afad g :

Action of plant roots
A [ arest v ret 8 e g
Infiltration of water into the soil
B HeT # STol 3 @ gart
Solar energy
¢ R Far gant
All options are correct
P T faFeT a8 & |

Answer Key: C

(117 Water loss by transpiration can be generally assumed to have come from :




AU ool GART AT I AT FHTI: TGOT I AT & -

Soil around the plant roots

T T S —
Surface run off

B Hdg 34darg aarT
Soil surface exposed to sunlight

© | e s wa g
The local ground water

b TYTHAIY 87-STel SaRT

Answer Key: A

Q118 Which principle best described the movement of water into perforated drainage pipe:

Pl a1 Aeeid gaw 317 Bfga stor et agy & g Hr afafafer Fravia axarg 2

Capillary rise
A lorarare
Water flow from a negative matric potential in the soil to a zero matric potential into the pipe
B sy ot spomeses a1 i frererer 1 976 o1 e AR RS 7 o 1 T
The combination of cohesive and adhesive forces
¢ HHIT 3 3HTHST Fell T TSl
None of these
P |emrams

Answer Key: B

Q119 Which of the following inetroligical phenomenon is responsible for fluctuation in the ground water level :

fArfarEd Agtalifoterel T3 & & HloTHY 8-5Tel FAT R 3AN-TGT AT SccEr g 2

Atmospheric pressure
A
EIRCAC]
Rainfall
B
asT
Wind
C
gar
D | All options are correct




i AT @ g |

Answer Key: D

Q120 Which of the following classes of soil moisture regime based on the length of the period that the soil was saturated?

feefaf@a & & wla o Her i 7 cgawyr 39 3raftr o 3R e &, STa Har e o 2

Udic soil moisture regime

A g3Teh HeT I A STaET
Aridic soil moisture regime

B Sk FeT T T cFaTT
Aquic soil moisture regime

T ——
Xeric soil moisture regime

P AEELCT FeT i T cgaer

Answer Key: C

Q121 Which of the following causes the least pollution when burnt ?

Al 31 & st a1 SToret 1 Teard Gad HA TeuoT helldr 2

Petrol

* oo
Diesel

B et
Coal

¢ el
Natural gas

P oo ot

Answer Key: D

Q122 The main constituent of CNG is :
1w S T g Heh § 2

Methane
A Jorom

Butane
?




Ethane

S

Propane

Dl e

Answer Key: A

Q123 A solar cell is made up of :
TR Al TATGIAT & :

Silicon

fafeisr

Titanium

(GG RE

magnesium

D

Answer Key: A

Q124 Maximum temperature that can be attained in a box type solar cooker is:

Teh 9ET 3 TR aTel TR Fhehd H HTRehcld ATTHTT YT TehdT ST Hebll & 2

200°C

200°C

140°C

140°C

80°C

80°C

250°C

D

250°C

Answer Key: B

Q125 Which of the following is not combustible?
=T & T it AT CgAMNT TG & 2

0O,

0O,




D

Methane

[ERCH

Answer Key: A

Q126 The source of energy of the sun is :

UL S LR T

Nuclear fission

TRy fa@s

Chemical reaction

Tarafae far

Nuclear fusion

AT GoTTeT

D

Photoelectric effect

PIeT Solfdees T

Answer Key: A

Q127 Solar constant is :

140 Wm™

140 Wm™

1.4 Wm?>

1.4 Wm™

14K Wm™

1.4 K Wm™

D

1.4 M Wm™

1.4 M Wm™

Answer Key: C

Q128 Tehri dam was projected on :

g Ty gEaTfad o I




Ganga river

3T e

Bhagirathi river

srTfarcedr a7y

Narmada river

THeT e

Krishna river

D
FHSUTT e

Answer Key: B

Q129 Which one of the following is most suitable plant for reclamation of alkaline soil?

frAfafed & @ laar veh a7 FeT & T s 3uged durg 2

Eucalyptus

IGEIE/

Pipal

Ao

Coconut

AR

Kiker

DW

Answer Key: C

Q130 “ world water day” is celebrated on :
e SteT fea@ AT ST B -

16" September

16 FdsR

22" march

22 AT

2" February

02 Par

14" J anuary

D
14 STeTady

Answer Key: A




Q131 Alamatti dam was projected on :

3TTATT ST &A1 fohaT 7T

Krishna river

o

Bhagirathi river

IR a7ey

Betwa river

Sadr SAer

Kosi river

P e wa

Answer Key: A

Q132 Solar photovoltaic cell converts solar energy directly into :

TIoR Bledifecsd O IR Fa1T ol TS TAART FATS

Mechanism energy
A ot
Electricity
B
feratelr
Heat energy
¢ 3HI Fal
Transportation
R

Answer Key: B

Q133 Pyranometer is an instrument used for measuring the:

IRIATACY fl o7 R AT 3 AT U AT g

Temperature of the solar photovoltaic cell
A Ao Bieiaifecds Aol & dTIHTeT

Solar irradiance of solar photovoltaic cell
B | e wreratess e Ak Ao

wind speed of solar photovoltaic cell
e e dw @ )




Efficiency of photovoltaic cell

el S N

Answer Key: B

Q134 Solar energy can not be stored in which of the following medium :

R Folt &) T ATAT & @ Fg AA 7 gafea 781 fam ST gearn?

Water
A

STel

Iron
B

IR RG]

Silicon
C v

IGRICAGH

Wood
D

EoLs]

Answer Key: D

Q135 Solar radiation that is received after it changes its direction due to reflection and scattering in the atmosphere is called energy

gTATaRoT H GRIddsl Ug JehioTeT & geard yred 9iX fafemor s shgr Smar &

Diffused radiation
A | e R
Scattered radiation
B gehIfoTe fafeor
Beam radiation
¢ s fafertor
radiation
P | ffemor

Answer Key: A

Q136 What kind of energy does a wind turbine use :
Ueh UdsT TeFeh fohdl g T SotT T YT il & 2

Kinetic energy

aIfdst Fatt

B | Potential energy




feufast Fat

Chemical energy

T Fall

Thermal energy

D‘mﬂtrmﬁ

Answer Key: A

Q137 Which of the following state in India ranks first in the installation of wind power ?

IR & Frafaf@a T3 & @ HiTar 9aed F7 1 TATIAT H Ugel TATT 9T g ?

Gujarat
A

f)

Andhra Pradesh
B ]

kl1i3 el

Maharashtra
C

HeRTSC

Tamilnadu
D

S

Answer Key: D

Q138 A pyrhelio meter is an instrument that measures :

IRRIg for31 HieT &1 39ATeT [ FATIT R fov fFar srar g

Kinetic energy
A o 3t
Diffuse solar radiation
B eI | fafehor
Beam solar radiation
¢ S\ | fafeor
Thermal energy
b ISH ST

Answer Key: C

Q139 Power output from wind energy electric generator is directly proportional to :

el Sl Selfdrgeh Sfeiiex U TasTell &1 Sculeet e 3e]dTicih & :




Wind velocity

U] RIIT H

Square of Wind velocity

Udel 39T R T

Cube of Wind velocity

Ugol AT R YT H

D

Square root of Wind velocity

Tl 9 9T H FIHA B

Answer Key: C

Q140 Wind blows because of difference in :

fohE 3= 3 HROT gaT Tgcll & 2
Temperature
A
GISEIGH
Latitude
B .
3T&TTRo
Longitude
C
SRR
Height
D

ESIS

Answer Key: A

Q141 An anemometer is an instrument used for measurement of :

ufaaHeT 1 99T [AFT 3 A9 B forw fhar Smarg:

Solar radiation

gt fRAafeor

Wind speed

gar &1 digdr

Temperature gradient

RIEEIGRECEGI

D

Depth in ocean

G T T

Answer Key: B




Q142 The main disadvantage of wind power is that :
qael Sl o 3T H GHE HeAT I8 & o -

It is available only in coastal areas

Ig T &1 7 3T B

Wind energy systems are noisy when in operation

qae Jiotl YOl RETeld #  afel gguor

Large land area is required

S #1fH &1 T ATl

The capacity utilization is less

b YA &THAT FH &

Answer Key: D

Q143 Gasification of biomass is a:

g 4 &1 AdaRoT R

Biochemical conversion process

A |t s wteor 1y 9fen
Chemical conversion process

B T Toleh RATALOT T Gishar
Thermochemical conversion process

© | e sraratores ercor -
Biological conversion process

P | e weror s

Answer Key: B

Q144 Which of the following fuel does not give ash as residue when burnt ?
rfafEa U=t & O Sl T1 39T R T H TG 76T &1 ?

Wood

A
EALTe)
Charcoal

B
FISS Il
Biogas

C
EIRIEIRs)




D

Coal

I

Answer Key: C

Q145 The ocean thermal energy conversion system that is meant to generate power is most suitable in:

HETAIRIY SSHIY Srsil FUICROT JOTTR T 3GTT fdegcl ScdleeT 3 TorT fehdm STTdm 8, Sit 3ugerd & :

Subtropical region

3ursuThfeatiT & &

Tropical region

ST eI &1 #

Cold region

CEEAEIR]

D

Moderate climate region

HHIH Siearg &1 H

Answer Key: B

Q146 The tidal waves are caused by periodic rise and fall of ocean. It is associated with the position of :

AR olg T A M giee w1 aRomeA g | S qefrd g

Moon
A

dgHT

Sun
B

el

Earth
C

o

Sea
D

HHG

P

Answer Key: A

Q147 Which of the following is not an application of hydrogen energy ?

=T & T FITAT FTSIISTA ST T YT AGI & 2

Fuel cell

SUeT A

Generator set




STeleX AT

Running a two wheeler

aY ufgat amsr 1 aR=merT

D

Producing biofuel

G EEIeT T 39T

Answer Key: D

Q148 Hydrogen can be generated commercially by :

ETSSISTeT SATAATAS T H 3coeT I ST Thdll & -

Aerobic digestion

aqsﬁa’rma?r

Steam methane reforming

EEH AT Rpifeer

Anaerobic digestion

yaqsﬁa“rma?r

D

Incineration

aTsHTRIoT

Answer Key: B

Q149 Fuel reforming is a process of :

Transforming fossil fuel into CO
A SaTeH $U ST CO H Tl
Transforming fossil fuel into H,
B SaTRA ST I H, H deofell
Removing carbon compounds from fossil fuel
© | rsfors aareif ¥ frest e & g e
None of these
D

T A IS e

Answer Key: B

Q150 Hydrogen can be stored as a:

ETS3ISTe T Fafed T ST ThaT & -




Compressed gas

TRRI T RETTH

Liquid

GEGERE:!

Metal hydride

T 9 TS w o

All options are correct

D
Ff AT T T |

Answer Key: A




